Summative Statistics Exercise Name

The following data shows the lengths of 30 trout caught in a lake during a fishing competition. The
measurements were rounded down to the nearest centimetre. :
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a. Construct a cumulative frequency table for trout lengths, x cm, using the intervals 24 <.x <27,
27 <x <30, and so on. Why does a wﬂequency table make more sense than a frequency

table?

Draw a cumulative frequency graph for the data on the grid provided below.

Hence, estimate the median length. Explain how you got your answer.

d. Use the cumulative frequency table to calculate an estimate for the mean. Show the work that
leads to your answer.

e. Use the original data to find its mean, median, mode, standard deviation, variance, range, and 1QR.
Compare your answers from part ¢ & d. Comment on your results. -

f. Compare the mean and median in part e and comment on the distribution of your data.

g. Construct a boxplot for the original set of data.
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